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B.A/B.Com./B.Sc./.BBM/BBA/BHM DEGREE EXAMINATION,

MAY -2018
First Year
ENGLISH (Paper — 1)

Time : 3 Hours Maximum Marks : 70
Section-A
Analysis Skills
Q1) a) Read the following passage and answer the questions that follow. [5 x1=5]

b)

It is the mad usage for speed that is responsible for many motor accidents. Only last
year I witnessed what might have been a fatal accident on the Kashmir road. I was
motoring down from Srinagar and came upon the wreckage of two cars on the road.
The smash had been caused by a car coming down, which swept round a sharp corner at
forty miles an hour and crashed into a car coming up. Thankfully no one was killed but
several were badly injured.

1)  Why do many accidents occur?

i)  Where did the writer witness the accident?

iii)  What caused the accident?

iv)  What was the effect of the accident?

v)  Give the antonym for, ‘sharp’?

Read the following passage and answer by choosing the right answer. [5 x1=5]
Of course, I am honest and a hard worker. In the very second week, I had made more
sales than the previous salesman had made during any week. Maybe because it was the
week before diwali when more saris are bought. Or it could have been due to my
salesmanship. Anyway I had good reason to be satisfied with the way things were
going. That was how it was until this morning. I was beginning to have rosy dreams of
getting married and settling down in mumbai, which is a good place for a refugee from

punjab.
1) Whois ‘I’?
i)  Customer il)  Salesman
iii) Boss iv)  Previous salesman
2) The speaker made more sales than
i)  The boss i)  The boss’s wife
iii) The previous salesman iv)  Customer
3) The salesman made more sales because
1) Ofdiwali i1)  The salesmanship of the salesman
iil) The variety available iv)  Diwali season and salesmanship
4) The salesman was with his job.
i)  happy ii)  Unhappy
ii1) Satisfied iv) Proud
5) The speaker belongs to
i)  Mumbai ii)  Delhi

iii) Punjab iv)  None of the above



02)

a)

b)

d)

g)

Correct the following sentences: [5 x 1=5]

1) Why you are not writing?

2) Either you or your sister are to attend the meeting.
3) The gold is very expensive

4) Where is the scissors?

5) One should put his belongings in the room.

Rewrite as directed. [5 x 1=5]
1) Suraj rang the bell.(change the voice)

2) He went for the party (Add a question tag)

3) She said, where do you stay? (change into indirect speech)

4) He is honest though poor. (change into a compound sentence)

5) Veeru is the strongest man in the village.(change to positive degree)

Change into direct speech: [5 x1=5]
1) Seema said that she was going for a movie

2) Rajtold me to pass the book.

Fill in the blanks with correct forms of verbs given in the [5 x1=5]
1) He  (drink) soup every day.

2) They  (buy) a basket of mangoes.

3) Whenhe  (run), he fall down.

4) 1 (listen) carefully to what he said.

5) Thebaby  (cry) since morning.

Fill in the blanks with suitable words given in the end. [5 x 1=5]
1) He  everyone with his performance

2) Rocky  the murder of his sister

3) God  oureveryneed

4) Reena  me acup of tea.

5) He  everyday

(avenged, exercises, brought, mesmerized, S)
Rewrite the following set of jumbled sentences to make a wherent passage. [3]
1) She lived in Mumbai.
2) Her children helped her in the business.
3) She shared the profits with them.
4) Mrs. Raj was an elderly lady.
5) There she ran a cloth business.

Write three exchanges of dialogue between a customer who comes to a lodge to stay for
three days and the receptionist there. [3]



h) Write a paragraph using the following hints. [3]
Poor villager — educated son — son gets a good job — neglects father — gets involved
in corruption — loses job — comes home —father consoles — son repents.

1) Write in about 100 words on any one of the following. [3]
1) Social media-curse or born?

2) Fast food and lifestyle diseases
3) Climate change and its impact

Section-B
Descriptive Skills

03) Write an essay on One of the following. [5 x 1=75]

a) Bring out the humour in R.K. Narayan’s ‘A snake in the grass’.
b) How does ‘Letter to India’ reveal a father’s love for his daughter.
c) Justify the title, ‘Blood, Tail, Tears and sweat.

d) Bring out the humour in, ‘A marriage proposal’.

04) Write short notes on any three of the following. [3 x3=09]
a) What are the reasons the poet gives to laugh and be merry?
b) What inspects of science does the poet bring out in ‘sonnet-to science’?
c) What is the central theme of piano and drums?
d) Summarize the poem, ‘The express’.
e) Justify the title, “The tables turned’.

05) Write an essay on One of the following [1 x 4=4]
a) What doe Tolstoy’s story reveal about the character of God?

b) Bring out the appropriateness of the title, “The gold watch’.
c) Narrate the hardships faced by the old refugee.

06) a) Explain any two of the following [1 x 4=4]

1) “Do you charge five shillings for everything”?
2) “I hope your law is better than your rowing.”
3) “Deepak was about any fifth name”.

b) Explain any one of the following [1 x 4=4]

1) Small is the worth of beauty from the light retired.
2) God made heaven and earth for joy.

4+
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01) 58 8OD DS 28 HER;OB HB HwoY TIGOHD FOTOHD [6]

a) DHOB HBRRH BR0E3B HodeE cuTe B
DOH0¢5 DOFPORDC VEHOBNC BTG BERE O
DO DDTOLD BOLSHHD B0 é{sgiotﬁoo 20

& (&

B HOR0GBNBEY BHOL §39)¢5,085 EES Swoad!

b) 555008 e3BS BB HoTHD ERB SO 230 g
DL HIEBB BHHBO BPOOB DB HEO
%”(xp)cioe)m DBOLO DEEIBD FDEIPB,Q @*S@mo@@cs

DoRoaoess] aQer BERS B8O e BOBOTNS

02) 58808 708 ‘@ 20550 S00& Bodoe3d, ‘e’ gretso Hrodk Bo&oe3d RDOLSS 08I0 50,350

[SiJeveetbol [4 x2=8]
& - gIadio

a) R S8 HHGoe BBIESED.

b) g 08 K ue3S 503

C) Beo DEBO0OC (oY ?

d) DB OF BOSHOL DSSD,
& - 83’0

a) 598 S%0e Hewsd SSIP0H

b)  DeH8S0 soghe HoPEe SO

C) S05,0080 DogBOB, B BOOTD

d)  ares 00 Hr8er0emad ?

03) &8 8o® 500 ‘@’ gPtio 008 28 DB, ‘@’ 8RO KOG 28 DS FoOEID DBTDB
T2OBW. [2 x 6 =12]



& - gIadio

a) FH0BO DB HOOSHW

b) BPSoDsBO BYTe DBODED DB
& - 8Jed50

a) B TPDHO B DBODD BD.

b) e B HIJpen BQod.

04) 58808 a0 ‘@ 23550 S0 28 wodB ‘@8’ 3750 HI0B 28 RS BTGB HD

T200BW. [2 x 6 =12]
& - gIadio

a) CTB BDBS Hewdrd @OToeD

b) CROHVELL FoBODS S0 By DEZO?
& - 8330

a) 0o8BE 5B EHODD HEHED?

b) @0ES HoEd FHo58

03) 83 808 320 Bo&k0e38 HHBIPEPHEHW T2 OTOHD. [2 x 6 =12]
a) ROOT PG DBed
b) esosceD
C) BB OFEFO0 BOY S0epBEH H550 BHOL HHBOH;000WOR.
d) seeRds &80 HBHO Do MGBBR HHOOLYHD.

06) 53 808 0P DOOE3RD DB DO S0V TP OTHD. [5 x2=10]
a) oI b) 3,855
C) BJEH500 d) o000s0080
€) @EHIREE ) Doy
g) ©oBos h) egsse0
1) &8558 J) 33

0Q7) 83 808 320 DOOLRD HHET? ToBHNN TR DHBIPDBNOX HBHO0oBD.  [§ X 2 =10]

a) S350 b) g esen
C) BESSH0e0e0 d) a5

€) 0BV f) 03850550
g) BIEHH0E h) oeosss, &

1) 5seds O J)  BoegH0en
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Answer the following

0l) a Explam in brief the Glory of the Kavya of Valmiki? 3x8=24)
ATcHIoh : HISTITHT HHYU forerd ?

OR / 3Ydl
b) Explain the Qualities of scholors as described by Noble Vidura?

fagia ST GsqeE fe 7

Q2) a) Describe the words of the companion of Parvathi to the celibate?
: gl Jfew ufa forgara o ?
OR / 3T

b) Explain the help rendeved by Rajavahana to the Brahmin?
{I\YICIISH?GI |gw||ch><1| |°|-‘<’|C\e4(1 7

03) a) Describe the six reasons as persoriabed in the lesson?
C
qTGIITTHIY T g U ?

OR / 31gd1

b) Write the story of “MrltOJJeevanam’ ?
Jj‘(1|\1'\7||0|"| ATHYEA(H It'i’eld ?

04) Answer any four (4) of the following with reference to context. (4%x3=12)
T THeY ST |
a) 3fcar: Segamen Tevd sama: |
b) SIS FgHT: |
¢) ffeearfs 7 dad|
d) Tl amudaged)
e) T HfrsAfd TR & adl
f) SIEETEIdl gE@HIAr |
g) AT g =

h) ek GoieRUCeh! TR |




05)

006)

Translate any two into English or Telugu :

3 AV I STFAATTIT a1 SFaed|

a) ATCHA FHREIA T eefear|
Trat ekt | & fved 3=Ad ||

b) dcasl: AT ANTH: FeehHUTY|
IR FSOM R 9fved I=Ad||

c) i pea i fi of feafea =)
HH TRYA g8 dHTgHEaEH | |

d) g foqea 7 qarfd qadr F=m=id|

GE(HE 4 AWd dHTEHE e |

a) Write the forms of any three in the other numbers of the given persons.

FATTT ARy HTqedTior forad |
1) 3¥ad
2) TSt
3) Hied
4) faeq
5) SFeId
6) WIS
7) faafa
8) qeEfd

b) Decline any four as per the case ending.
Uit qafgafey vegEaTion forad |
1) oaME
2) ol
3) WA
4) fo
5) Tl
6) THME:
7)  TEM
8) dw=

2x3=6)

3x2=6)

4x2=8)



c)

d)

Combine any four sandhi’s.

FedT e |
) 'R+ gt
2) d9+ 39
3) qUT + To
4) 3fa + 3d
5) dt + 3/
6) ad+ 9
7) Yg + A
8) dd + AU

Dissolve any three :

T fergaTernta fored|
1) w9
2) YIHM:
3) qEl:
4) ®Amata:
5) 3tuH:
6) arcaem
7) EAYETE:
8) YUHIGL

4x2=8)

(3x2=6)
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SECTION — A
01) Tl dF i gy Tfea =ame Hifs) (3 x3=9)

02)

03)

04)

05)

a) % STAl ¥ ST 3T 3ok G&AUTIRT <l el T T 1 T91d &1 T &

b) Terar =t <m forar wed 81 58 foreft y=g foar 3 wehe o 2, 3@ 9= Y fSeft @
el 2|

c) ‘3T ThEeh Bl 37 UgHH Ta JehIereh &1 a A0 Sl | gIeigrh <l qfedi, 3TN oy
% THN RaeT X 98 W ¥ H @ fT@H1 =18dl 8, 39 i & AT UEehR 8
ST Fra9™|”

d) T3 F¥IAT % 39 Fehifdeplal H WA 99 3191 Fgad @1 ¢, 98 3f=d 1 8rm|

e) S Feh S JME A8 T &l FodT & o9 81| 39 e ! o} 7fer B

SECTION — B
foreht weh w1 1w ferivarstt wfga forfay (10)
a) YRAT ATfged 6t Tandn|
b) hfa 3R i
foreft T e 1w femwanedt wfed fofw (10)
a) ¥1 9 T | T
b) sfafa
foreft woh parlt 1 wR feriwane wfea fafaw) (10)
a) 3G el oA
b) TSI
a) 3Tk T 1 T Uo & fo v fafey| (10)
(31erET)

b) & wreamges TRt & fofe, gamTETY % AT W U 31ded U fefau



006)

07)

08)

o=l 31 STl b1 el gw Al § ffa
a) TYfetehl w1 A -Tamor Fhifsu)

b) ‘3THRL T FAT HEH! I ¥k hi ATHAT T THE ST

c) ‘=t = grad’ HEHT HT FAT I &7
d) ‘gradt’ o1 afie e hifsm)

e T 1 IR fora Afar 2|

a) IRt AT gl W Bl (T’ sgeem fafu))

b) 3T hTeiSt <l el B (‘o= sewet fafEu))
c) #H f&=dt diw| (area weereht fetfu))

d) W& 18 et 8| (Wit et # forfeu))

e) drar uis fer@dt 81 (qreepiferes aduehtal § fefaw))
f) TreRt 7 aror feam| (e w1 A fafaw))

g) Tifde 1S @9 § s =nfgu) (g Hife))

h) TH ¥ =1 781 11| (I dedet ffa))

i) ®ar % ufd &1 9™ T | (R 1AM fAfau))
j) Postman (39 e =1 1Y o<t # fefau))

Tor=gl 1 wreet o1 319 Tt # ot gl § wam <hifSw)
a) IAW

b) ARG

c) Wrdshl

d) %@

e) pwEd

2x3=6)

(10 x 1 =10)

(2%2%=5)
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Section - 4
Answer any two of the following

(2 x13=26)
Q1) Describe evolution of caste system in vedic culture.
B DO YBS® B HBR HDOEFHO0 (OO TPOFNHBL.

02) Describe the administrative system of Sharsha.
iqogq DHORPOT DFPHHNED DBOOTIIEWD.

03) Explain status of women in Mughal rule.
Bo0t5eIPAT0 5050 $037eER I HHOOTID.

04) Describe legacy of British rule.
2635) HOTPOD CANE, BiFRIBO HBOOTHD.

05) Write a note on Non violence and Satyagraha.
€3320 S0OATD DFW ISV (5308 32 OTNDDW.

06) Explain cultural condition under Satavahana.
BBV SOV WO BE HOPBOIOTO HHOOTIVHW.

Section — B
Write short notes on_any three of the following questions 3 x4=12)

Q7) Sufism
Doedresdo

08) Buddhism
a?cgéoém



09) Satyagraha

OB, (55308500

Q10) Raja Ram Mohan Roy.
Ooe3 0odD BTSITVD 020N

Q11) Sati system
OB 559

Q12) Social reforms
RPOPOE DO,

Q13) Ishwar Chandra Vidyasagar
88,5 <50 HWRRSE

Q14) Bhakti movement
&78 €555
Section — C
Q15) Fill in the blanks:
a) is the holy book of Hindus.

33°0E305)O DA FOLSDD.

b) religion was led by Mahavira Swamy

BB BT Do Q0 Tz 00 DB BIOTIDBD.

c) Arthasastra was written by

(Sl XS LISV S RIS - o b)
Q@ = —

d) Child marriage was eradicated by

2300 aeaIe00 DBIR,D 0D

Q16) Choose the correct answer:

a) The kingdom that arose in Warangal

i) Pandya
iii) Chera

BB S8 BSHH 08340 DO7?

1) o
i) 9o

i1) Kakatiya
iv) Chola

ii) sesBow
iv) SPer

(3 x4 =12



b) Ashoka fought the war of
i) Magadh ii) Kalinga
iii) Mahabharat iv) None
©-8350¢8 & 0GB T ?
1) 00 i) ssos
1il) S08eIeses V) OosesH
c) Indus valley civilization is related to
i) Harappan i)  Warangal
iii) Kalinga iv)  Vijayanagar
Q00580 TotOES BB DOODODID?
) 68 i) Ssosses
i) s8OS V)  DesoHSES0
d) Akbar minister was
i) Todarmal il)  Birbal
iii) Tenali Ramakrishna iv) Kabir
55 BRIBD DO ?
1) &GE5HS ) 55
1ii) B®e® 0es0E)R iv) 550
Q17) Match the following
a) Satyagraha 1) Vijayanagar
b) Krishna Deva Roy il) Mughal
c) Razia Sultana iii) Sultan
d) Jahangir iv) Gandhiji
v) Delhi
a) DT $ETBD 1) DBADHSESBO
b) gHdsce0D 1) Bootsereasoen
C) &0 Koenme 111) Koerssoen
d) 2520885 V) ceoded

v) &8

4+
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B.A./B.Sc. DEGREE EXAMINATION, MAY - 2018
First Year
MATHEMATICS -1
Dif. Equ., Abs. Alg & Vec. Calculus

Time : 3 Hours Maximum Marks : 70

Section - A
Answer all questions, each question carry equal marks

(8 x3=24)

Q1) Solve x%+2y = x"logx
X

02)

03)

04)

05)

006)

07)

x%+2y = x"log x & @&owEH®.
X

Solve (y—px)(p-1)=p
(y=px)(p-1)=p & oD

Solve (D*-5D+8D—4)y=¢™

(D’ —5D* +8D-4)y =€ 0 dogossosm.
Solve (D2 +1)y =secx
(D2 +1)y =SECX &0 DePOTHD.

Let G be a group if a, b € G then prove that (ab)'=b"a’!
a, b en DTS G S50 samessmen @os (ab)! =b'a’ oo dsedowos.

In the multiplication group G = {1,~1,i,—i}, find the order of the each element.
e Do G = {1,—1,i,—i} H0t%H, HB HoOBHD C30E, BEES BHOEH0HD.

If ¢ =2xz* —x"y, then find the value of %14%]4%1( at (2,-2,1)
ox Oy
¢=2xz" —x"y @ans (2,-2,1) e %i-{—?j-i-?k DB B508%,08%.
y z




08) Prove that .[ r.Nds =3V

jr.NdS =3V 0 ERDIOSOE.

N

Section - B

Answer all questions, each question carries 11% marks

(4 x11% = 46)

09) a) 1) Solve x%+2y = x"log x &0 deosod.
X

il) Solve %(2x tan”' y—x° )(l + y2) =0 o DeoSos.

OR
b) i) Solve y=2px+y°p’
y=2px+y’p’ o dpowsod.

ii) Solve (y—px)(p—1)=P & @ootsod.

Q10)a) 1) Solve (D2 —3D)y =2e™ sinx
(D2 —3D)y =2e” sinx &0 ePotsod.

3 2
ii) Solve 42439V D _ 2
dx dx dx
d’y

2
F+3i[i g}+2%=x2 50 DO,
X X X

OR
b) i) Solve (D2—4D+4)y:x2sinx+e2x+3

(D2 —4D+4)y =x’sinx+e”" +3 & oPosod.



011) a)

b)

012) a)

b)

ii)

i)

Solve (D2 +4)y = xsinx

(D2 +4)y = XSiNX o POHOSOH.

Find the g.c.d. 0f 42823 and 6409 and express it in the form of
42823x+ 6409y

42823, 6409 o t5.8%.3:0 8506°0 wedd 42823x+ 6409y 55068 aeonob.

State and prove Wilson’s theorem.
DS ATTROBDO DBV, DETDOTIOs.

OR
Prove the set Q of rational numbers other than 1, with operation @ such that
a®b=a+b—abVa,b e Q is an abelian group.

©5GB00 Do, VIS Q 9 253 B8 OBV Horewseer O BF HFOHE
a®b=a+b—-abVa,beQ ©dhrnre DS;DN, @ DS HABOOD KETPEIHID
W530D0%.

State and prove Lagrange’s theorem.
©230& DTROBHNB) HB DO, DEFPDH0TIOL.

Prove that curl ¥ =0
curl 7 = 0 0 8R0SOB.

Verify Green’s theorem in the plane for @N‘I?ax2 -8 y2)z’x+ (4y- 6xy)dy where

C is the region bounded by y=+/x and y=x’

y= Jx soom y=x DO o Feossin C @and
&I?))C2 -8 y2)z’x+ (4y- 6xy)dy sepd8 8§ droBo HOPHOS.
OR
Find the greatest value of the directional derivative of the functions f =x’yz’
at (2,1,-1)
(2,1,-1) 55 Hdbapo [ =x"yz’ &5 DT ED) 0PHS HeHBO BXE%,08.

State and prove “Gauss Diversene theorem” .
PR ODDVGE DLROTOY DHDO0), DEIHOTIO.

4+
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B.Sc. DEGREE EXAMINATION, MAY - 2018
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Answer any five questions.
All guestions carry equal marks.

Q1) a) Explain Operator j’.

b) Calculate the RMS value of voltage for a given sinusoidal function.

02) a) Discuss the colour code of a resistors with example.

b) What is Ohm’s law and its limitation?

03) a) Explain the V-I relationship of a capacitor.

b) Explain the combination of capacitors in series and parallel.

04) a) Explain loop current method for a given network.

b) Explain determinant method for a given network.
05) State and prove reciprocity theorem and maximum power transfer theorem.
06) Explain the transient response of R-L circuits (growth and decay).

Q7) Draw and explain the working of a parallel resonant circuit and derive resonant
frequency, Bandwidth and quality factor.

08) Discuss the frequency response of RL circuits.
09) Explain the working of Twint networks. What are Z — parameters.

Q10)Explain the working of Wein’s series bridge. Explain measurement of voltage using
CRO.

F4 4+
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B.Sc. DEGREE EXAMINATION, MAY - 2018
First Year
PHYSICS -1
Mechanics, Waves & Oscillations
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SECTION - A
Answer any two _questions. (2 x 7Y, = 15)

OB 3ot DFOB DHATPEOHHNOV FOIHD.

Q1) State and prove Gauss divergence theorem?
(o0 BHZY LROBO 53R DET0TTO ?

02) Derive the equation for the two dimensional elastic collisions?
55T DePYNE @INTEED DABTEFOD €& TTO ?

03) Derive the equation of motion of the Rocket?
0885 555008 HOBBE0D €& TIO ?

04) Derive the Euler’s equation?
Q00§ DAOESETOD €00k ?

SECTION - B
Answer any two _questions. (2 x 7Y, = 15)
OB 3oLkd DFOB DHATPEIHHOD FOIHD.

05) Derive the equation of Dampled Oscillator and give it’s solution?
OO S0B0 G308, HEOEGE0 SEOOD o DO, B0 ?

06) State and explain the Fourier theorem and evaluate it’s coefficients?
PFEOODS DTTROBO DTFEIO €300 TS T €BDOTIO ?

Q7) Derive the equation for transverse wave propagation along stretched strings?
DOV Bow B BOF epJHE BBome  SEomedE  HEBGB0

61‘9@38301;50(% ?

08) Explain the generation of ultrasonics using peigo-electric method?



388 - DOBE DB 39,00 B0 BBBD HHBOOTS0 ?
e @ o) —0

SECTION — C
Answer any five of the following. (5 x4=20)

09) Write a short note on vector integration?
DOF ROGTHG (HO0D HHOTe HHOOTTOG ?

Q10) What is a variable mass system? Explain.
BE $BH00B HHY 50 B0 ? HBOOSOG?

Q11) Types of bendings.
SO T OO0 ?

Q12) Explain what is time dilation?
B0 BBOEBO HBOOTSOG ?

Q13) Characteristics of SHM.
DTE0eE,E <SOS0 O30, OFETo0 8Q0ok?

Q14) Amplitude resonance?
QxRORHEIRE OFIR OO0 P00 ?

Q15) Transverse impedance?
EPNDE RODEN.

Q16) Applications of ultrasonics?
OB E)0O A3, BBODTHOO BYOls.

SECTION - D
Answer any four of the following questions. (4 X 5 =20)

017)If A=4i-5j+3k; B=2i-10j—7k and C=5i+7j—4k then derive AX(BxC) and (AxB)xC?
A=4i-5j+3k; B=2i-10j-7k &oooxn C=5i+7j4k ecwd Ax(BxC) sooodo

(AXB)*xC? Dendessd ceeeyols?



018) A Rocket having initial mass 240kg ejects fuel at the rate of 6kg/s with a velocity
2km/s vertically downward relative to itself. Calculate the velocity 25 Sec.
after start, taking initial velocity zero and neglecting gravity.

240 8. (0. BOBDS 28 0o8e5 6 8. 70/, (55003 50 TeAVHODO 2 8.80. /2> B5os’
DED DB DB HOALRBROD. DO AN, FpBOZS B0 DO HOOOTD TRIDS
OEOTBS 0 T DEDE], 0B HBOPIODS 25 JBOEY BSOS oD BIOD
019) A wire of 3.0 m long and 0.625 sq.cm. in cross-section is found to stretch by 0.3 cm

under a tension of 12500 kg. What is Young’s modules of the material of wire?
3.0 &0 DB 0.625 W.R0.L. WHeNREH BoBD 28 8¢5 12500 B gIB0OM

BODHEO HOD 0.3 B0.80. D50 BORDE. OB & H AING, OHOF HTEWHDB

020) Show that the force F = (y* — x%)i + 2xyj is conservative?
200 F = () — x%)i + 2x)j 0000 o8 DB, 200 O 57D ?

021) A particle executing SHM have velocities 20 cm/s, 16 cm/s at displacements 4 cm,
5 cm from its mean position respectively. Find its time period?
28 800 20 cm/s Hooax 16 cm/s Sceeso 4 cm Hooodo 5 cm RS ggoso88 HEE

$P00E,8 TSOTIOD TP Do SPODOROBR BX08%,087?
022) In what time will the amplitude of damped harmonic oscillator be reduced to half its

initial values. If the decay modulus is one second?
&rp DEBET,0D0 28 DBOE BOBD weoDHE 86,08 SFeBo GRS, a3 S0

89CG30,0E50E) SPBORD DBADOX BX0EF,08 7
023) A stretched string of length 1m, has a frequency =300 Hz in the fundamental mode.

Find the velocity of the transverse wave in the string.
28 &t etsochd, 300 Hz pb:digo 89805 28 8:58° 85,5 S50 335050

024)Calculate the fundamental frequency of a quartz crystal of thickness 3 mm,

Y =8 x 10""N/m” and p = 2.5 x 10° kg/m’?
3 mm 500850 BDED 2.8 525, Qe3B0 CB0Y, FpER0E Doi5:a)D;080 8508%,08. (Y =

8 x 10" N/m?*) sooos (p =2.5 x 10° kg/m’).
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